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Will be zero | Remains the Decrases Increases | If the current in a wire which is placed icular to a
— magnetic field increases, the force on :
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An energy-saver light bulb uses ;
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Q hd Capacudnce is defined as: .
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| Upright and \ Uprightand | Inwerted and T formed by a convex lens on a
| wirtual L= wirtual
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Water waves | Radio waves | Light waves ple of longitudinal waves?
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: k- hich characteristic of a wave i3 independent of the
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£.07 year 12.3 days 8.07 da . Half life of ]:_.:l' is: 2
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: How many basic operations of digital electronics are?
Wz def & (=2)kig e df p e [Vl P
Larger ' ive | Positive  |Ifthe objeci is on the right side of lens, then pis: _
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Number of Hiﬁm Atomic pumber | Atomic mass | [sotopes are atoms of same element with different:
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External mail | Extramail | Electronic mail | Emergency mail What docs the term e-mail stand for?
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{ Part-1 Jil4das )

Write short answers to any FIVE parts, -gwﬂﬁj"ﬁsleﬁg.af -2
Define restocing force and write its formula, ek A it (i)
Diefine the pitch of sound L ATC e
Prove that:  v=1A val ) ;é.'.z.rt (i)
Far spherical mirmor, define mdius of curvature and focal lenglh. -2 B AT AESITRLL Lonk i ()
Define total internal reflection. Al ﬂff i)
Write the sudible sound frequency range. i P AT e (v
Diefine choctrommapnetic waves. ,é..eﬂ.fsp_@f‘ 30 {wii)
What is lens formeals? Write it. -oF tetfini A (viii)
Write short answers to any FIVE parts. -ia[lﬁ/#&lzl‘k.-_af =3
Define electric current, Write its S1 unit also, il s gl @

-erf i rf_ruu'(#.;i'm;iﬁ_ﬂ,hﬁ {if)
How the potential difference scross & circuil component i measurcd? Draw its diapram. _

wLxJzE.,,r:uf.uﬁ.f A

Defing the torm kalowatt-hour. How much Joules are in one hlnwart-hum”

T (i)

State the ruls wo fimd the direction of magnetic ﬁcldmlﬂﬂmcurmm

-‘;';E——{M#;}ti"ufuﬁlre _ (+)
In mwtual induction let the carrent in first coil becomes steady. - in second coil,
Wirite the names of four logie gates. _ ; ) t.ﬂu{ﬂ& (i)
Which logie e is alao ealed iverter? Dru s 5 i u;fa%iuif.ﬂf’ {wii)
Deaw the circuit disgram of AND-gate. £ _ &bl S AND (i)
Write short answers to any FIVE par{ihair 2 .:;uﬂ.mip.&f -4
How a capacitor storcs a charge? te b b MY G
Define tuning circuil 2 a A B )
State Coulombl's baw and write formula for findingforc e e A i
What is the difference betwaen dats and information” fe JASL=RT]  (iv)
What is meant by software? e ot (v
How light siznals are sont t her? WL AL ASBVFELR )
What is meant by unstable ?..;.ﬁ;&’:‘-l]ﬁ:&rﬁj {wii)
Define nuclear fusion A A (vii)

2090 Ly ezl clrne il pipadan
- 11, Attempt any TWO questions. Each question carries 09 marks,

Lot ¢ Ir bR S Rt B K () s

Define simple pmdulum Prove that motion of 2 simple pendulum is simple harmonic motion also

wrile down its period equation.
,ér*’u'u"fftr“" o FerutTulord 006 QT Wi Ve SIS IV a0 (L)
A capacitor holds 0.06 Coulombs of charge when fully char h}’i 9 volt battery, Calculate

capacitance of the capacitor.
.é' o line JBules, .w@’ftl.i-fﬁié () -6

Define electromagnetic induction and explain with example.

F 16em 3‘5} Wk .ﬁ-.-;;e §E 10.5em e ef 0 S0em L ()
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An object is 30cm tall located 10.5cm from a concave mirror with rml'ltng‘th I6em:
(i) Where is image located? (i) How high is it?
Define radioisotopes and wrile its iwo uses. £;fuwﬂpsﬁjh:l£_ﬁj&f I Tgds () 3
Mg iF b ety ug il \SAe L F P WEBPHIPEFIL ()

By applying  potential difference of 10V across a conductor, a current of 1.5A passes through it.
How much energy would be obtained from the current in 2 minutes?
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